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K R pEfk i —% (53441 0H 1 H~AM446 A 1 5 HHEZ4))
| EERHIXA B {ir & ERE (nf) | HEsAEs
| |%#rdt—6 HER HILPy 2,119 6
2 ljRmrs —3 ITYHT 3 T H HiPy 2, 087 6
3 lRAT3 —5 {T3HT 3 T H HiPy 350 1
4 limrmrs —7 ITYHT 3 T H HiPy 792 2
> [iToklr—3 L AHT HiPY 155 7
6 |#A1-3 HH1TH HiPy 337 3
T #ER1—4 #H1TH HiPy 3, 069 3
8 |#R2—1 HH2TH HiPy 1,557 3
9 |&#BH2-3 #H2TH HiPy 2, 683 3
10 |%#H2-5 HH2TH HiPy 3, 690 9
1 |%#p3—3 #H3TH HiPy 1,715 2
12 |%#H3-5 HH3TH HiPy 3, 782 1
13 |%p4—2 #HATH HiPy 355 4
14 |%R4-3 HHATH HiPy 4,287 2
15 | biliFar—3 INIESL} HiLPY 204 1
16 \inr—1 J11 ST HiLpy 2,683 2
17 |gmdes —1 Feide 3 TH HiPy 1,715 2
18 g3 —4 fedt 3 TH HiP 973 2
19 |t s — 2 etk 5 TH HiPy 1,543 2
20 |psmgdis —1 g 3 T H HiP 1,327 1
21 |pespeh 5 — 1 et 5 T H HiPy 1,391 2
22 |1 —1 Y1 TH HiP 409 2
23 |1 —5 Yt 1 TH HiPy 688 1
2 |peHFE1—6 PedtE1 TH Hipy 1,295 6
25 |1 —7 Yt 1 TH HiPy 592 3
26 |peipo—3 Y2 TH HiP 1,178 5
2T |pespro—4 Vb2 TH HiPy 2,947 5
28 |prp3—4 Y3 TH HiP 636 1
29 |ekra—1 Pt 4 TH HiPy 1,739 5
30 |pdpda—2 tedtE4 TH HiPy 1,869 7
Sl | RS o — 3 Yot RIS R ORISR —T H HiPy 1, 256 3
32 | mANERE—1 HANEHE Hit Ay 851 1
3B Rs—1 R HiLPy 705 2
M | THliEE—1 T RIS HiLPy 2,041 8
3 |FHligz—2 THILEE HiPY 4, 562 17
36 | THPTE 1 — 1 THRLME 1 TH HiLpy 7,364 12
ST | oLt 1 —5 THRILE 1 TH HiPY 1,186 3
38 | THE2 — 2 THRLE2 TH HiLpy 2,911 7
9 |FHIANE—2 TEILANE HiPY 2,531 3
40 | Fmipe —1 TR 2 TH HiLPy 502 1




41

TERELFE2 —2 THLVWE2TH HAN 1,326 3
42 | FHNpE3—1 TR TH HiLpy 1,855 6
43 | FmipEa —1 THELIFEA4TH HiPY 1,098 4
WO TENEe — 1 THIPG6 T H HiLpy 7,620 23
45 | rasmr—1 PR RT HiLpy 1, 663 1
46 |epgar— 2 BT HiPy 1,534 4
AT g1 —1 JERT 1 T H HiLPy 1,212 5
48 |gmro — 2 JEET 2 TH Hipy 667 2
19 |pmr2 — 3 JERT 2 T H i) 1,225 6
0 |jgmr3—2 EET 3 TH Hipy 990 6
Sl ImEded —1 FE# 4 TH HiPy 1,107 1
52 Bk 2 — 2 FMKE 2 T H Hipy 1,875 1
53 |Pkiitad—3 Beilis 4 TH HiPY 3,977 9
o4 |Pkilis s —1 Boilis 5 THMNRUER 3 TH HiP 6, 551 8
5 |LHFE 1 — 1 WP 1 T H HiPY 429 1
56 |jlimpE1—2 WP 1 T H HiP 631 1
°T |iHpE3 —4 WP 3 T H HiPY 2,511 2
o8 sl —1 i L T H HiP 1,015 6
%9 |lim#3—1 LH# 3 TH HiPy 1,809 2
60 |3 —3 LIfH# 3 TH HiP 982 6
61 |iymsas—4 LH# 3 TH HiPy 1,414 3
62 |iipmda—3 i 4 TH HiP 168 2
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